Probability L1 Mark Scheme
1(a) % [1] Allow simplified form
1(b) 1,3,5 (1]
3 _
A [1] Allow simplified form
1(c) 1,4 (1]
2 _
A [1] Allow simplified form
2(a — 1
@) 50 [1]
2(b) 20 — 5 —8— 3 = 4 black [1]
4+8_12 [1] Allow simplified form
20 20
3(a) _ 10 = 10 [1] Allow simplified form
6+10+4 20
apy | oF10_16 [1] Allow simplified form
20 20
3 3
4 - -z 1
@ 3+4+1 8 s
1
4(b — 1
(b) 5 [1]
5(a) 30 _30 [1] Allow simplified form
30+ 10 40
5(b) 0 [1]
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6(a) B7-1)+2 =18 [1]
18
- 1
37 [1]
6(b) Probability of green on European: 3—17 ]
Probability of green on American: 32—8
No, the probability has not doubled. [1]
Probability of black on European: 8
6(c) ] (1]
Probability of black on American: =
European has a higher probability of landing on [1]
black.
7(a) 20 [1] Allow simplified form
7(b) 20 [1] Allow simplified form
8(a) 9,11 will result in a loss [1]
20 [1] Allow simplified form
8(b) 10 will result in a loss [1]
1
— 1
50 [1]
° - - °
9(a) 0 05 1 [1] 0.5 only
[
9(b) 0 0.5 ? [1] 1 only
—¢ °
9(c) 0 05 1 [1] Between 0 and 0.5
) S °
9(d) 0 0.5 1 [1] 0 only
[ o
9(e) 0 05 )( 1 [1] Between 0.5 and 1
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